
2nd Grade

Module 4

Lesson 15

Eureka Math 

At the request of elementary teachers, a team of Bethel & Sumner educators 

met as a committee to create Eureka slideshow presentations. These 

presentations are not meant as a script, nor are they required to be used. 

Please customize as needed. Thank you to the many educators who 

contributed to this project!

Directions for customizing presentations are available on the next slide.



Customize this Slideshow
Reflecting your Teaching Style and Learning Needs of Your Students

➢ When the Google Slides presentation is opened, it will look like Screen A.

➢ Click on the “pop-out” button in the upper right hand corner to change the view.
➢ The view now looks like Screen B.

➢ Within Google Slides (not Chrome), choose FILE.

➢ Choose MAKE A COPY and rename your presentation.

➢ Google Slides will open your renamed presentation. 

➢ It is now editable & housed in MY DRIVE.

Screen A “pop-out”

Screen B



Icons

Read, Draw, Write

Learning Target

Think Pair Share

Individual

Partner

Whole Class

Small Group Time

Small Group 

Personal White Board

Problem Set

Manipulatives Needed

Fluency





I can Represent subtraction with and without 

the decomposition when there is a three-digit 

minuend. 



Materials Needed: 

Sprint

Concept Development: 

● (S) personal white boards

● (S) paper



Subtract from Tens

When I say a basic fact, you add ten to the 

whole and continue until I say to stop. So, after 

11 – 9, you would solve 21 – 9. Then?

Yes. Solve as many as you can on your personal white board 

before I give the signal to stop. Let's begin. 11 – 9.



Sprint



Application problems

There are 136 students in the second grade at Miles 

Davis Elementary. 27 of them brought bag lunches to 

school. The rest buy the hot lunch. How many 

students are buying a hot lunch?



Concept Development

172

- 48

Hundred           tens           ones                                

v v

126

421



Concept Development

172

- 48

126

421

The answer to 172 - 48 is…?

Let’s draw a number bond to show 
that. What was the total?

172

What are our parts?

12448

If we add together our parts, what 

should our total be?



Concept Development

172

- 48

126

421

Add together the parts to see if you 

get the correct total.

124

+48

172

12448

Let’s make two addition and 
two subtraction sentences for 

this number bond

1

172

124 + 48 = 172

48 + 124 = 172

172 - 48 = 124

172 - 124 = 48



Problem Set 



Debrief
When you used the chip model for Problem 1(a),

how did you know whether or not to decompose

a ten? Was this the same in Problem 1(b)?

For Problem 1(b), where did you write the

unbundled ten as ones in vertical form? How did

it match your chip model?

For Problem 1(c), what number(s) did you draw

on your place value chart? Why? Does

subtracting from a three-digit number change

how you subtract?



Debrief
For Problems 1(d) and (e), can you tell if you need

to decompose a ten just by looking at the digits in

the ones place? Explain how you know.

Look at Problems 2(a) and (b). How did you solve

these problems without using a place value chart?

Did you draw a magnifying glass? What can you

visualize?



Exit Ticket
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